
 Grade 12 Math SL – QUADRATIC WORKSHEET


NAME: _________________________________________ 					DATE: _________
1. Consider the quadratic funtion 

a. State  the x intercept 										 [2]
b. State the equation of the axis of symmetry							 [2]
c. Find the y intercept 										 [1]
d. Find the vertex											 [1]

2. 												 [3]
3. For what values of k does the graph  not cut the x –axis. 			 [3]

4. Find, in the form , the equation of the quadratic whose graph:

a. Touches the x axis at 4 and passes through (2,12)							 [3]


5. Consider the quadratic function  Convert to vertex form by completeing the square.														 [4]

6. If AB has the same length as CD. BC is 2cm shorter than AB, and BE is 7cm in length, find the length of AB.														 [4]
[image: ]
7. An open square container is made by cutting  square pieces out of a piece of tinplate. If the capacity is , find the size of the original piece of tinplate.																					[3]
[bookmark: _GoBack]
8. The perimeter of a rectangle is 34cm.  Given that the diagonal is of length 13 cm and that the width is x cm. Find the demensions of the rectangle. 									[4]









9. 600 m fencing is used to construct 6 rectangular animal pens as shown. 
[image: ]
a. Show that 										[2]
b. Find the area A of each pen in terms of x.							[1]
c. Find the dimensions of each pen if each  pen is to have maximun area.			[3]	
d. What is the maximum area of each pen?							[2]

10. AB is the longest vertical support of a bridge which contains a parabolic arch. The vertical supports are 10m apart. The arch meets the vertical end supports 6m above the road.
[image: ]
a. If axes are drawn on the diagram of the bridge, with x axis the road and the y axis AB, find the equation of the parabolic arch.										[4]

b. Hence, determine the lengths of all other vertical supports.					[2]


11. A manufacturer of barbeques knows that if x of them are made each week then each one will cost  pounds and the total receipts per week will be  pounds. How many barbeques should be made per week to maximize profits?									[6]
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] 5. Graphing and i
transforming functions
=] 6. Quadratic

ez a Convert it into the form y = a(z — h)2+k by ‘completing the square’.

] Historical note b State the coordinates of the vertex. ¢ Find the y-intercept.

£ opening probiem d Sketch the graph of the function. e Use technology to check your answers.
] A- Quadratic
5 :‘i"::"s Use technology to solve:
discriminant of a 1
quadratic L a (z—2)(z+1)=3z—-4 b 2z——=5
] c- Graphing ¥ Ed
quadratic functions

1 Consider the quadratic function y = 222 + 6z — 3.

@ o-Finding a Draw the graph of y = —22 + 2z.
quadratic rom ts
graph

] £- where
functions meet

Find the equation of the axis of symmetry and the vertex of y = —322 +8z +7.

5 Using the discriminant only, determine the nature of the solutions of:
# ] F - Problem solving
with quadratics a 2:2-52-7=0 b 322 —242+48=0
] 6 - Quadratic
i .
s ::::Z:"“ If [AB] has the same length as [CD], [BC] is

- 2 cm shorter than [AB], and [BE] is 7 cm in
1] Review seteB | length, find the length of [AB].

] 7. The binomial
expansion
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[ 5. Graphing and B 12 600 m of fencing is used to construct
transforming functions 6 rectangular animal pens as shown.
& 6. Quadratic
quations and 600 — 8z
functions a Show that y= ———.
] Historical note . 9 .
5] opening problem b Find the area A of each pen in terms of z.
] A- Quadratic
equations
B 8-The d  What is the maximum area of each pen?
discriminant of a
quadratic

& C- Graphing 1 13 Two different quadratic functions of the form f(z) = 922 — kz +4 each touch
quadratic functions the @-axis

[] - Finding @
a Find the two values of k.

¢ Find the dimensions of each pen if each pen is to have maximum area.

quadratic from its
araph

i} 'E;‘:]N'-ere X b Find the point of intersection of the two quadratic functions.
unctions meet
[ F - Problem solving ¢ Describe the transformation which maps one function onto the other.
with quadratics
6 - quadratic
optimisation
1] Review set 6A
[ Answers
V] Reviw set 68
B Review set 6C 1 Consider the quadratic function y = $(z —2)2 —4.
[ 7. The binomial
expansion

6C

a State the equation of the axis of symmetry.
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The truck is 4.8 m high and 3.9 m wide.

B8] 5. Grophing and A Determine whether the truck will fit.

transforming functions

=] 6. Quadratic
equations and
functions

] Historical note
%] opening problem
F A- Quadratic [ parabolic arch

equations ertical supports . B
B8 5-The J/ yertial supports [AB] is the longest vertical

:E',':"f"““ support of a bridge which
& C- Graphing F contains a parabolic arch. The

‘quadratic functions vertical supports are 10 m apart.

-~ 6m—>

efo- .
e :ua;lr':::‘%r:mns ﬁ' The arch meets the vertical end

graph >y
O - where Toadway |
functions meet ]

ez

& 6 - Quadratic a If axes are drawn on the diagram of the bridge above, with z-axis the road and

optimisation y-axis (AB), find the equation of the parabolic arch in the form y = az?+ec.
5] Review set 64
[] Answers b Hence, determine the lengths of all other vertical supports.
] Review set 68
] Review set 6C

[ 7. The binomial
expansion

supports 6 m above the road.
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